[ Efficiency vs vertpos |
0.0]

0.009
0.008
0.007
0.006
0.005
0.004
0.003
0.002
0.001

1.0

[y

0.95 : : :
1072 107 1 10 10?

—=— /dataziiegianni -bKkwd-Twd/no-modi —I3_U_X_. -UL-24- STC original
—e— DQM_modified

i —— DQM_modified_PL
@ —— DOM_modified_PL_Newl

0.0} H H H H H
e e e

GO
T R o BRIt SRS
0.006f+++--Fesoefedeesnencbone b b
0 s
O A S S S
o0 0 N W S
e S NTTETe STt SRS S
0
T S S
R LR S SRRRRELD -------------------------
5050 =10 0102030

0.95!

[ Efficiency vs. sim PV z |
0.0

0.000F- -4
0.008
0.007
0.006
0.005
0.004
0.003
0.002
0.001




	Contents
	Page 1


